
Punch Press Kit without Clamps

Part List

Kit Number 20710

Part Number Description Quantity

40504 STUD 3/8 X 3 4 each

40506 STUD 3/8 X 4 4 each

40508 STUD 3/8 X 5 4 each

40510 STUD 3/8 X 6 4 each

40512 STUD 3/8 X 7 4 each

40514 STUD 3/8 X 8 4 each

41503 COUPLING NUT 3/8-16 4 each

41603 FLANGE NUT UNC 3/8-16 8 each

WOODEN HOLDER 1 each

http://catalog.te-co.com/item/all-categories/driver-studs/40504?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/40506?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/40508?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/40510?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/40512?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/40514?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/coupling-extension-nuts/41503?&plpver=10&origin=keyword&filter=&by=prod

